
DAS IST DER
„EISENGÜRTEL  

RUSSLANDS“, DIE  
TRANSSIBIRISCH
E  EISENBAHN.



Die 
Transsib  
überquert  
zehn  
Zeitzonen,  
ihre Länge 
ist  mehr 
als  neun  
Tausend  
Kilometer.



Die 
Errichtung  
der  
Transsibiris
che  n 
Eisenbahn  
wurde 1891  
begonnen.



Die Errichtung wurde von zwei  
Seiten verwirklicht.



 Man arbeitete auf
einem  

unbewohnten
Territorium, wo es  

eine
undurchdringliche  

Taiga gab.



Sümpfe und  
Frostböden  
waren fast
nicht zu  

überwindende  
Hindernisse.



 Dank der  
Eisenbahn

entstanden viele  
Städte, z.B.  

Nowossibirsk,  
die heute die  

größte sibirische  
Stadt ist.


